

How to Cite:

Kuffi, E. A., & Ahmed, L. S. (2022). A new complex SEL integral transform and its applications on ordinary differential equations. *International Journal of Health Sciences*, 6(S3), 604–612. <https://doi.org/10.53730/ijhs.v6nS3.5392>

A New Complex SEL Integral Transform and its Applications on Ordinary Differential Equations

Emad A. Kuffi

Materials Engineering Department, College of Engineering, Al-Qadisiyah University, Iraq

Email: emad.abbas@qu.edu.iq

Luay Salim Ahmed

Science Institute, Çankiri Karatekin University, Turkey

Email: luaysalim2020@gmail.com

Abstract---This paper introduces a new complex integral transformation obtained by inserting a complex parameter into the well-known Rangaig integral transform kernel function. The new integral transform is denoted by the acronym SEL and is called the Complex (Serifenur-Emad-Luay) integral transform. The proposed SEL integral transform features are explained and shown to correspond to some fundamental functions. The application of the SEL transform to finding the solution of some differential equations, including those arising in some real-world practical applications, is discussed as an illustration of the actual fields that could benefit from this novel transform.

Keywords---complex kernel, integral transform, rangaig transform, sel integral transform, differential equations, uniformly loaded beam, newton's law of cooling.

Introduction

Since the introduction of integral transforms by Euler in 1763 [1], many integral transforms have been proposed [2]. Integral transforms were given prominence in mathematicians' minds because of their ability to convert a problem from one domain where solving it is pretty difficult into another where the problem's solution is more manageable. The basic function of an integral transform is to produce a new function by integrating the function desired to be transformed from one domain to another with the kernel function of the transform within a specific limit. From this prospect, the main difference between integral transforms lies in their kernel functions and the limit of integration [3-5].

The standard kernel function of the integral transforms does not contain complex parameters [6-10]. However, many mathematicians have recently directed their efforts to insert complex parameters into the kernel of the integral transforms to gain more generality in the series of these transforms [11,12]. This work follows the recent direction of inserting the complex parameter into yet another well-known Rangaig integral transform kernel function. The insertion of complex parameters into the kernel of the Rangaig integral transform produces a new integral transform with a different domain named after the people who proposed it and is called the Complex (Serifenur-Emad-Luay) SEL integral transform. The SEL transform's basic properties and applications to solving differential equations in some physical applications will be discussed in this paper.

The complex (Serifenur-Emad-Luay) sel integral transform

For an exponential order function H , that is defined as:

$$H = \{h(t): \exists N, \lambda_1, \lambda_2 > 0, |h(t)| > Ne^{i\lambda_j|t|}, t \in (-1)^{j-1} \times (-\infty, 0], i \in \mathbb{C}\} \quad (1)$$

For the set in equation (1), the arbitrary constant N must be finite, and the constants λ_1, λ_2 can be finite or infinite. It is possible to define the new complex (Serifenur-Emad-Luay) SEL integral transform as:

$$\eta^c\{h(t)\} = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} h(t) dt, \frac{1}{\lambda_1} \leq \mu \leq \frac{1}{\lambda_2} \quad (2)$$

In the Complex SEL integral transform, the complex variable $(i\mu)$ factorizes the h 's function variable t . In other words, the function $h(t)$ is remapped into the function $L(i\mu)$ of the $(i\mu)$ -space.

The complex Sel transform for some fundamental functions

For any existing $h(t)$ function where $h(t) \in H$. The Complex SEL transform is satisfied if the conditions $t \geq 0$ and the function $h(t)$ is a continuous piecewise with decreasing exponential order are fulfilled.

Theorem (1)

Let $L(i\mu)$ denotes the transformation of the Complex SEL of $h(t) \in H$. Then the following theorems are applied.

- If $h(t) = 1$, then the Complex SEL Transform to $h(t)$ is:

$$\eta^c\{1\} = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} dt = \frac{1}{i\mu^2} \int_{t=-\infty}^0 e^{i\mu t} \cdot i\mu dt,$$

$$\eta^c\{1\} = \frac{1}{i\mu^2} \left[e^{i\mu t} \right]_{t=-\infty}^0 = \frac{1}{i\mu^2} [1 - 0] = \frac{-i}{\mu^2}.$$
- If $h(t) = t$, then the Complex SEL Transform to $h(t)$ is:

$$\eta^c\{t\} = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} t dt,$$

$$\eta^c\{t\} = \frac{1}{\mu} \left[\frac{t}{i\mu} + \frac{1}{\mu^2} \right] e^{i\mu t} \Big|_{t=-\infty}^0 = \frac{1}{\mu^3}.$$
- If $h(t) = t^2$, then the Complex SEL Transform to $h(t)$ is:

$$\eta^c\{t^2\} = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} t^2 dt,$$

$$\begin{aligned}\eta^c\{t^2\} &= \frac{1}{\mu} \left[\frac{t^2}{i\mu} + \frac{2t}{\mu^2} + \frac{2}{i^3\mu^3} \right] e^{i\mu t} \Big|_{t=-\infty}^0 = \frac{2i}{\mu^4} . \\ - \text{ If } h(t) &= t^3, \text{ then the Complex SEL Transform to } h(t) \text{ is:} \\ \eta^c\{t^3\} &= \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} t^3 dt, \\ \eta^c\{t^3\} &= \frac{1}{\mu} \left[\frac{t^3}{i\mu} - \frac{3t^2}{i^2\mu^2} + \frac{6t}{i^3\mu^3} - \frac{6}{i^4\mu^4} \right] e^{i\mu t} \Big|_{t=-\infty}^0 = \frac{1}{\mu} \left[\frac{-6}{i^4\mu^4} \right] = \frac{(-1)(3!)}{\mu^5} .\end{aligned}$$

In general, if $h(t) = \eta^c\{t^n\}$, then the Complex SEL transform to $h(t)$ is: $\eta^c\{t^n\} = \frac{(i)^{n-1}n!}{\mu^{n+2}}$, n is a positive integer.

Theorem (2): The Complex SEL Transform to an Exponential Function

The Complex SEL Transform to the function e^{at} is: $\eta^c\{e^{at}\} = \frac{-1}{\mu} \left[\frac{-a}{a^2+\mu^2} + i \frac{\mu}{a^2+\mu^2} \right]$.

Proof:

$$\begin{aligned}\eta^c\{e^{at}\} &= \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} e^{at} dt = \frac{1}{\mu} \int_{t=-\infty}^0 e^{(i\mu+a)t} dt, \\ \eta^c\{e^{at}\} &= \frac{1}{\mu} \left(\frac{1}{i\mu+a} [e^{(i\mu+a)t}] \right) \Big|_{t=-\infty}^0 = \frac{1}{\mu} \left(\frac{1}{i\mu+a} [1-0] \right) = \frac{1}{\mu} \left(\frac{1}{a+i\mu} \cdot \frac{a-i\mu}{a-i\mu} \right), \\ \eta^c\{e^{at}\} &= \frac{1}{\mu} \left[\frac{a}{a^2+\mu^2} - i \frac{\mu}{a^2+\mu^2} \right].\end{aligned}$$

OR

$$\eta^c\{e^{at}\} = \frac{-1}{\mu} \left[\frac{-a}{a^2+\mu^2} + i \frac{\mu}{a^2+\mu^2} \right].$$

Theorem (3): The Complex SEL Transform to the Trigonometric Functions

The Complex SEL Transform to the trigonometric functions $\sin(t)$ and $\cos(t)$ respectively is:

$$\eta^c\{\sin(t)\} = \frac{1}{\mu} \left(\frac{1}{1-\mu^2} \right) \text{ and } \eta^c\{\cos(t)\} = \frac{i}{1-\mu^2} .$$

Proof:

From the Complex SEL definition

$$\begin{aligned}\eta^c\{\sin(t)\} &= \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} \sin(t) dt, \\ &= \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} \left(\frac{e^{it} - e^{-it}}{2i} \right) dt = \frac{1}{2i\mu} \left[\int_{t=-\infty}^0 e^{i(\mu+1)t} dt - \int_{t=-\infty}^0 e^{i(1-\mu)t} dt \right], \\ &= \frac{1}{2i\mu} \cdot \left[\frac{1}{i(\mu+1)} e^{i(\mu+1)t} \right]_{t=-\infty}^0 + \frac{1}{2i\mu(1-\mu)} \left[e^{-i(1-\mu)t} \right]_{t=-\infty}^0, \\ &= \frac{-1}{2\mu(\mu+1)} + \frac{-1}{2\mu(1-\mu)}, \\ &= -\frac{1}{2\mu} \left[\frac{1}{\mu+1} + \frac{1}{1-\mu} \right] = \frac{-1}{2\mu} \left[\frac{1-\mu+\mu+1}{\mu^2-1} \right] = \frac{-1}{\mu} \left[\frac{1}{\mu^2-1} \right], \\ \therefore \eta^c\{\sin(t)\} &= \frac{-1}{\mu} \left(\frac{1}{\mu^2-1} \right) = \frac{1}{\mu} \left(\frac{1}{1-\mu^2} \right) .\end{aligned}$$

Similarly,

$$\begin{aligned}\eta^c\{\cos(t)\} &= \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} \cos(t) dt = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} \left(\frac{e^{it} + e^{-it}}{2} \right) dt, \\ &= \frac{1}{2\mu} \left[\int_{t=-\infty}^0 e^{i(\mu+1)t} dt + \int_{t=-\infty}^0 e^{i(\mu-1)t} dt \right], \\ &= \frac{1}{2\mu} \left[\frac{1}{i(\mu+1)} e^{i(\mu+1)t} \right]_{t=-\infty}^0 + \frac{1}{2\mu} \left[\frac{1}{i(\mu-1)} e^{i(\mu-1)t} \right]_{t=-\infty}^0 ,\end{aligned}$$

$$\begin{aligned}
&= \frac{1}{2\mu} \left[\frac{1}{i(\mu+1)} \right] + \frac{1}{2\mu} \left[\frac{1}{i(\mu-1)} \right] , \\
&= \frac{1}{2i\mu} \left[\frac{1}{\mu+1} + \frac{1}{\mu-1} \right] = \frac{1}{2i\mu} \left[\frac{\mu-1+\mu+1}{\mu^2-1} \right] , \\
&= \frac{1}{i} \left[\frac{1}{\mu^2-1} \right] = \frac{-i}{\mu^2-1} = \frac{i}{1-\mu^2} , \\
&\therefore \eta^c\{\cos(t)\} = \frac{i}{1-\mu^2} .
\end{aligned}$$

Theorem (4): The Complex SEL Transform of Derivatives

If the n th derivative of the function $h(t) \in H$ exists in the set of equation (1), then the Complex SEL transform of the n th derivative of the $h(t)$ function denoted by $\eta^c\{h^{(n)}(t)\}$ is defined as follows.

If $h(t), h'(t), \dots, h^{(n)}(t) \in H$, then:

$$\text{i. } \eta^c\{h'(t)\} = \frac{1}{\mu} h(0) - i\mu \eta^c\{h(t)\} .$$

Proof:

$$\text{From the Complex SEL transform definition: } \eta^c\{h'(t)\} = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} h'(t) dt ,$$

Performing integration by parts.

$$\text{Let: } u = e^{i\mu t}, \quad dv = h'(t)dt, \quad du = i\mu e^{i\mu t} dt, \quad v = h(t) .$$

Then:

$$\eta^c\{h'(t)\} = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} h'(t) dt = \frac{1}{\mu} \left[e^{i\mu t} h(t) \right]_{t=-\infty}^0 - i\mu \int_{t=0}^{\infty} e^{i\mu t} h(t) dt ,$$

$$\eta^c\{h'(t)\} = \frac{1}{\mu} [(h(0) - 0)] - i\mu \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} h(t) dt ,$$

$$\eta^c\{h'(t)\} = \frac{1}{\mu} h(0) - i\mu \eta^c\{h(t)\} .$$

$$\text{ii. } \eta^c\{h''(t)\} = -ih(0) + \frac{1}{\mu} h'(0) - \mu^2 \eta^c\{h(t)\} .$$

Proof:

$$\text{From the Complex SEL transform definition: } \eta^c\{h''(t)\} = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} h''(t) dt ,$$

Performing integration by parts.

$$\text{Let: } u = e^{i\mu t}, \quad dv = h''(t), \quad du = i\mu e^{i\mu t} dt, \quad v = h'(t) .$$

$$\eta^c\{h''(t)\} = \frac{1}{\mu} \left[e^{i\mu t} h'(t) \right]_{t=-\infty}^0 - i\mu \int_{t=-\infty}^0 e^{i\mu t} h'(t) dt ,$$

$$\eta^c\{h''(t)\} = \frac{1}{\mu} h'(0) - i\mu \left[\frac{1}{\mu} h(0) - i\mu \eta^c\{h(t)\} \right] ,$$

$$\eta^c\{h''(t)\} = -ih(0) + \frac{1}{\mu} h'(0) - \mu^2 \eta^c\{h(t)\} .$$

$$\text{iii. } \eta^c\{h'''(t)\} = -\mu h(0) - ih'(0) + \frac{1}{\mu} h''(0) + i\mu^3 \eta^c\{h(t)\} .$$

Proof:

$$\text{From the Complex SEL transform definition: } \eta^c\{h'''(t)\} = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} h'''(t) dt ,$$

Performing integration by parts.

$$\begin{aligned}
\text{Let: } & u = e^{i\mu t}, dv = h'''(t)dt, \quad du = i\mu e^{i\mu t} dt, v = h''(t). \\
\eta^c\{h''''(t)\} &= \frac{1}{\mu} \left[e^{i\mu t} h''(t) \Big|_{t=-\infty}^0 - i\mu \int_{t=-\infty}^0 e^{i\mu t} h''(t) dt \right], \\
\eta^c\{h''''(t)\} &= \frac{1}{\mu} h''(0) - i\mu \eta^c\{h''(t)\}, \\
\eta^c\{h''''(t)\} &= \frac{1}{\mu} h''(0) - i\mu \left[-ih(0) + \frac{1}{\mu} h'(0) - \mu^2 \eta^c\{h(t)\} \right], \\
\eta^c\{h''''(t)\} &= \frac{1}{\mu} h''(0) - \mu h(0) - ih'(0) + i\mu^3 \eta^c\{h(t)\}, \\
\eta^c\{h''''(t)\} &= -\mu h(0) - ih'(0) + \frac{1}{\mu} h''(0) + i\mu^3 \eta^c\{h(t)\}.
\end{aligned}$$

$$\text{iv. } \eta^c\{h^{(4)}(t)\} = \frac{1}{\mu} h'''(0) + i\mu^2 h(0) - \mu h'(0) - ih''(0) + \mu^4 \eta^c\{h(t)\}.$$

Proof:

From the Complex SEL transform definition: $\eta^c\{h^{(4)}(t)\} = \frac{1}{\mu} \int_{t=-\infty}^0 e^{i\mu t} h^{(4)}(t) dt$,

Performing integration by parts.

Let: $u = e^{i\mu t}, dv = h^{(4)}(t)dt, du = i\mu e^{i\mu t} dt, v = h'''(t)$.

$$\begin{aligned}
\eta^c\{h^{(4)}(t)\} &= \frac{1}{\mu} \left[e^{i\mu t} h'''(t) \Big|_{-\infty}^0 - i\mu \int_{-\infty}^0 h'''(t) e^{i\mu t} dt \right], \\
\eta^c\{h^{(4)}(t)\} &= \frac{1}{\mu} \left[(h'''(0) - 0) - i\mu \int_{-\infty}^0 h'''(t) e^{i\mu t} dt \right], \\
\eta^c\{h^{(4)}(t)\} &= \frac{1}{\mu} h'''(0) - i\mu \int_{-\infty}^0 h'''(t) e^{i\mu t} dt, \\
\eta^c\{h^{(4)}(t)\} &= \frac{1}{\mu} h'''(0) - i\mu \left[-\mu h(0) - ih'(0) + \frac{1}{\mu} h''(0) + i\mu^3 \eta^c\{h(t)\} \right], \\
\eta^c\{h^{(4)}(t)\} &= \frac{1}{\mu} h'''(0) + i\mu^2 h(0) - \mu h'(0) - ih''(0) + \mu^4 \eta^c\{h(t)\}.
\end{aligned}$$

Applications

The implementation of the Complex SEL integral transform into solving some mathematical applications is discussed in this section.

Application (1)

Solve the following differential equation with the given initial condition using the Complex SEL transform:

$$\frac{dy}{dx} + 2y = x, y(0) = 1.$$

Solution:

$$\begin{aligned}
\eta^c\left\{\frac{dy}{dx}\right\} + 2\eta^c\{y\} &= \eta^c\{x\}, \\
\frac{1}{\mu} y(0) - i\mu \eta^c\{y\} + 2\eta^c\{y\} &= \frac{1}{\mu^3}, \\
(2 - i\mu)\eta^c\{y\} &= \frac{1}{\mu^3} - \frac{1}{\mu}, \\
\eta^c\{y\} &= \frac{1}{\mu^3(2-i\mu)} - \frac{1}{\mu(2-i\mu)}, \\
\eta^c\{y\} &= \frac{1}{\mu} \left[\frac{1}{\mu^2(2-i\mu)} - \frac{1}{(2-i\mu)} \right], \\
\eta^c\{y\} &= \frac{1}{\mu} \left[\frac{A}{\mu} + \frac{B}{\mu^2} + \frac{C}{(2-i\mu)} \right] - \frac{1}{\mu(2-i\mu)},
\end{aligned}$$

After

simple

computations,

$$A = \frac{i}{4}, B = \frac{1}{2}$$

and

$$C = -\frac{1}{4}$$

$$\eta^c\{y(x)\} = \frac{1}{\mu} \left[\frac{i}{4\mu} + \frac{1}{2\mu^2} - \frac{1}{4(2-i\mu)} - \frac{1}{2-i\mu} \right]$$

$$\eta^c\{y(x)\} = \frac{i}{4\mu^2} + \frac{1}{2\mu^3} - \frac{5}{4\mu(2-i\mu)},$$

$$\eta^c\{y(x)\} = \frac{i}{4\mu^2} + \frac{1}{2\mu^3} - \frac{5}{4\mu} \left[\frac{1}{2-i\mu} \cdot \frac{2+i\mu}{2+i\mu} \right],$$

$$\eta^c\{y(x)\} = \frac{i}{4\mu^2} + \frac{1}{2\mu^3} - \frac{5}{4\mu} \left[\frac{2}{4+\mu^2} + i \frac{\mu}{4+\mu^2} \right],$$

Taking the inverse of the Complex SEL transform, the solution is obtained as:

$$y(x) = -\frac{1}{4}(1) + \frac{1}{2}x + \frac{5}{4}e^{-2x}.$$

Application (2): Using the Complex SEL Transform to Solve Newton's Law of Cooling Problem

Based on Newton's law of cooling, an object surrounded by an environment with a different temperature than the object itself changes proportionally to the difference between the object's temperature and its surroundings.

Let:

θ be a body temperature at time t ,

θ_0 be the surrounding environment temperature,

Then, the Newton's law of cooling relation would be:

$$\frac{d\theta}{dt} \propto [\theta(t) - \theta_0(t)] \Rightarrow \frac{d\theta}{dt} = -\beta[\theta(t) - \theta_0(t)], \quad (3)$$

Where β is proportionality constant ($\beta > 0$).

The problem: if a body temperature drops from 80°C to 60°C in 20 minutes, when placed in the air, and the surrounding air temperature is 40°C .

- i. What will be the body temperature after 40 minutes?
- ii. When will the body temperature reach 55°C ?

Solution:

Considering:

The surrounding air temperature is: $\theta_0 = 40^\circ\text{C}$,

The initial body temperature $\theta(0) = 80^\circ\text{C}$ at time $t = 0$,

After time $t = 20$ min., the body temperature becomes $\theta(20) = 60^\circ\text{C}$.

Applying Newton's law of cooling in equation (3):

$$\frac{d\theta}{dt} \propto [\theta(t) - \theta_0(t)],$$

$$\Rightarrow \frac{d\theta}{dt} = -\beta[\theta(t) - \theta_0(t)], \text{ where } \beta \text{ is a constant,}$$

$$\Rightarrow \frac{d\theta}{dt} = -\beta\theta(t) + \beta\theta_0(t),$$

$$\Rightarrow \frac{d\theta}{dt} + \beta\theta(t) = \beta\theta_0(t) \text{ or } \theta'(t) + \beta\theta(t) = 40\beta, \quad (4)$$

Taking the Complex SEL transform to both sides of equation (4) obtains:

$$\eta^c\{\theta'(t)\} + \beta\eta^c\{\theta(t)\} = 40\beta\eta^c\{1\}.$$

Using the Complex SEL transform of derivatives property, gives:

$$\frac{1}{\mu}\theta(0) - i\mu\eta^c\{\theta(t)\} + \beta\eta^c\{\theta(t)\} = \frac{-40i\beta}{\mu^2}, \quad i \in \mathbb{C} \quad (5)$$

Since it is given that $\theta(0) = 80^\circ$ at time $t = 0$, then substituting $\theta(0)$ into equation (5) gives:

$$\frac{80}{\mu} - i\mu\eta^c\{\theta(t)\} + \beta\eta^c\{\theta(t)\} = \frac{-40i\beta}{\mu^2},$$

$$\Rightarrow (\beta - i\mu)\eta^c\{\theta(t)\} = \frac{-40i\beta}{\mu^2} - \frac{80}{\mu},$$

$$\begin{aligned}
&\Rightarrow (\beta - i\mu)\eta^c\{\theta(t)\} = \frac{-40i\beta - 80\mu}{\mu^2} , \\
&\Rightarrow \eta^c\{\theta(t)\} = \frac{-40(i\beta + 2\mu)}{\mu^2(\beta - i\mu)} , \\
&= -40 \left(\frac{A}{\mu} + \frac{\beta}{\mu^2} + \frac{C}{\beta - i\mu} \right) , \\
&= -40 \left(\frac{A\mu(\beta - i\mu) + B(\beta - i\mu) + C\mu^2}{\mu^2(\beta - i\mu)} \right) , \\
&= -40 \left(\frac{A\mu\beta - iA\mu^2 + B\beta - iB\mu + C\mu^2}{\mu^2(\beta - i\mu)} \right) , \\
&C - iA = 0 \Rightarrow C = \frac{i}{\beta} , \\
&A\beta - iB = 2 \Rightarrow A\beta = 2 - 1 \Rightarrow A = \frac{1}{\beta} , \\
&B\beta = i\beta \Rightarrow B = i ,
\end{aligned}
\tag{6}$$

$$\begin{aligned}
&\therefore \eta^c\{\theta(t)\} = -40 \left(\frac{\frac{1}{\beta}}{\mu} + \frac{i}{\mu^2} + \frac{\frac{i}{\beta}}{\beta - i\mu} \right) , \\
&\eta^c\{\theta(t)\} = -40 \left(\frac{i}{\mu^2} \right) + (-40) \left[\frac{1}{\beta\mu} + \frac{i}{\beta(\beta - i\mu)} \right] , \\
&= -40 \left(\frac{i}{\mu^2} + \frac{-40}{\beta} \left[\frac{1}{\mu} + \frac{i}{\beta - i\mu} \right] \right) , \\
&= -40 \left[\frac{i}{\mu^2} \right] - \frac{40}{\beta} \left[\frac{\beta - i\mu + i\mu}{\mu(\beta - i\mu)} \right] , \\
&\eta^c\{\theta(t)\} = 40 \left[\frac{-i}{\mu^2} \right] - \frac{40}{\beta} \left[\frac{\beta}{\mu(\beta - i\mu)} \right] , \\
&= 40 \left[\frac{-i}{\mu^2} \right] - \frac{40}{\mu} \left[\frac{1}{\beta - i\mu} \cdot \frac{\beta + i\mu}{\beta + i\mu} \right] , \\
&= 40 \left[\frac{-i}{\mu^2} \right] - \frac{40}{\mu} \left[\frac{\beta}{\beta^2 + \mu^2} + i \frac{\mu}{\beta^2 + \mu^2} \right]^2 , \tag{7}
\end{aligned}$$

Taking inverse to the Complex SEL transform to equation (7) gives:

$$\begin{aligned}
\theta(t) &= 40\eta^{c^{-1}} \left\{ \frac{-i}{\mu^2} \right\} + 40\eta^{c^{-1}} \left\{ \frac{-1}{\mu} \left[\frac{\beta}{\beta^2 + \mu^2} + i \frac{\mu}{\beta^2 + \mu^2} \right] \right\} , \\
\theta(t) &= 40(1) + 40e^{-\beta t} , \tag{8}
\end{aligned}$$

Since it is given that $\theta(20) = 60^\circ\text{C}$ at $t = 20$, then:

$$\begin{aligned}
60 &= 40 + 40e^{-20\beta} \Rightarrow 20 = 40e^{-20\beta} , \\
\frac{1}{2} &= e^{-20\beta} \Rightarrow \frac{1}{2} = (e^{-\beta})^{20} \Rightarrow \left(\frac{1}{2} \right)^{\frac{1}{20}} = e^{-\beta} . \tag{9}
\end{aligned}$$

- i. It is possible to find the body temperature at time $t = 40$ using equation (9) as:

$$\begin{aligned}
\theta(t) &= 40 + 40e^{-40\mu} , \\
\theta(t) &= 40 + 40(e^{-\mu})^{40} \Rightarrow \theta(t) = 40 + 40 \left(\frac{1}{2} \right)^{\frac{40}{20}} , \\
\theta(t) &= 40 + 40 \left(\frac{1}{2} \right)^{20} , \\
\theta(t) &= 50^\circ\text{C}.
\end{aligned}$$

Therefore, after time equals 40 minutes, the body temperature would be 50°C .

- ii. To find the required time for the body temperature to reach 55°C , then:

$$\begin{aligned}
55 &= 40 + 40e^{-\mu t} \Rightarrow 15 = 40(e^{-\mu})^t , \\
\Rightarrow \frac{15}{40} &= (e^{-\mu})^t , \tag{10}
\end{aligned}$$

Substituting equation (9) in equation (10), gives:

$\frac{15}{40} = \left(\frac{1}{2}\right)^{\frac{t}{20}}$, applying the natural logarithm to both sides of the result equation obtains:

$$\ln\left(\frac{15}{40}\right) = \frac{t}{20} \ln\left(\frac{1}{2}\right) \Rightarrow t = \frac{20 \ln\left(\frac{15}{40}\right)}{\ln\left(\frac{1}{2}\right)},$$

$\therefore t = 28.3$ minutes.

Therefore, the body reaches the required temperature after 28.3 minutes.

Application (3): Using the Complex SEL Transform to Solve the Problem of a Uniformly Loaded Beam

The differential equation with the following boundary conditions that represent the deflection of a beam under a uniform load of w_0 per unit with hinges $x=0$ and $x=L$ at its ends, as shown in figure (1), is:

$$y^{(4)}(x) = \frac{w_0}{EI}, \text{ or } \frac{d^4 y}{dx^4} = \frac{w_0}{EI}, 0 < x < 1 \quad (11)$$

Where:

$E \equiv$ Young's modulus,

$I \equiv$ the cross-section's moment of inertia about an axis normal to the plane of bending,

$EI \equiv$ the beam's flexural rigidity,

$y'(0) \equiv$ the beam's slop,

$M(x) = EIy''(x)$ is the beam's bending moment,

$S(x) = M'(x) = EIy'''(x)$ is the beam's shear at a point.

It is possible to solve the deflection of the uniformly loaded beam using the Complex SEL transform through the application of the transform to both sides of equation (11):

$$\eta^c \left\{ \frac{d^4 y}{dx^4} \right\} = \frac{w_0}{EI} \eta^c \{1\},$$

$$\frac{1}{\mu} y''''(0) + i\mu^2 y(0) - \mu y'(0) - iy''(0) + \mu^4 \eta^c \{y(x)\} = \frac{w_0}{EI} \left(\frac{-i}{\mu^2} \right), \quad (12)$$

Using the first and second conditions and the unknown conditions $y'(0) = C_1$ and $y''''(0) = C_2$ into equation (12), obtains:

$$\frac{C_2}{\mu} - \mu C_1 + \mu^4 \eta^c \{y(x)\} = \frac{-iw_0}{EI\mu^2},$$

$$\mu^4 \eta^c \{y(x)\} = \frac{-iw_0}{EI\mu^2} - \frac{C_2}{\mu} + \mu C_1, \quad (\div \mu^4)$$

$$\eta^c \{y(x)\} = \frac{-iw_0}{EI\mu^6} - \frac{C_2}{\mu^5} + \frac{C_1}{\mu^3},$$

Applying the inverse Complex SEL transform to find:

$$y(x) = \frac{w_0 x^4}{EI 24} + \frac{C_2 x^3}{6} + C_1 x.$$

Conclusions

The new Complex SEL integral transform extends the kernel of the Rangaig integral transform to include complex parameter. By incorporating a complex parameter into the kernel function of the Rangaig transform, the new proposed transform gains more generality and a broader range than the original transform. The study of the properties and application of the SEL transform to various essential functions demonstrated the transform's capacity to handle them efficiently. The SEL transform has also been used to solve several differential

equations, including some practical applications' differential equations. It has proven to be effective in locating a solution using appropriate mathematical computations.

References

1. Deakin, M.A.B., Euler's invention of integral transforms. Arch. Hist. Exact Sci. 33, 307–319. 1985.
2. Emad A. Kuffi, Noor Kadhim Meftin, Elaf Sabah Abbas, Eman A. Mansour, A Review on the Integral Transforms, Eurasian Journal of Physics, Chemistry and Mathematics, 1, 20-24. 2021.
3. Erwin Kreyszig, Advanced Engineering Mathematics.9th ed. WILEY, 2014.
4. B.S. Grewal, Higher Engineering Mathematics. 42nd ed. Khanna Publishers. 1998.
5. Saitoh, S., Sawano, Y., Theory of Reproducing Kernels and Applications. Springer, 2016.
6. David V. Widder, The Laplace Transform, Dover Publications, 2010.
7. Mohand M., Abdelrahim Mahgoub, The New Integral Transform "Mahgoub Transform", Advances in Theoretical and Applied Mathematics, 11(4), 391-398. 2016.
8. Eman A. Mansour, Emad A. Kuffi, Sadiq A. Mehdi, 2021, The new integral transform "SEE transform " and its Applications, Periodicals of Engineering and Natural Sciences, 9(2), 1016-1029. 2021.
9. Norodin A. Rangaig, Norhamida D. Minor, Grema Fe I. Penonal, Jae Lord Dexter C. Filipinas, Vernie C. Convicto, On Another Type of Transform Called Rangaig Transform, International Journal of Partial Differential Equations and Applications, 5(1), 42-48. 2017.
10. Mansour, E., Kuffi, E., Generalization of Rangaig transform. International Journal of Nonlinear Analysis and Applications, 13(1), 2227-2231. 2022.
11. Ali Hassan Mohammed and Sarah Falih Makttoof, A Complex Al-Tememe Transform, International J. of Pure & Eng. Mathematics, 5(2), 17-30. 2017.
12. Eman A. Mansour, Sadiq A. Mehdi, Emad A. Kuffi, "The New Integral Transform and its Applications", Int. J. Nonlinear Anal. Appl. 12(2), 849-856. 2021.
13. Shubham Sharma & Ahmed J. Obaid (2020) Mathematical modelling, analysis and design of fuzzy logic controller for the control of ventilation systems using MATLAB fuzzy logic toolbox, Journal of Interdisciplinary Mathematics, 23:4, 843-849, DOI: 10.1080/09720502.2020.1727611.